Name: EGBOCHUKWU ESTHER CHINALU

DEPARTMENT: PHARMACY

MATRIC NO: 19/MHS11/049

```
NAME: EGROCHUKUNI ESTHER CHINALY
DEPARTMENT : PHARMACY
MATRIC NO = 191MHS11 1049
COURSE WAT 104
        SOLUTIONS TO QUESTIONS GOVEN
 Find the @ equation of the pent and & equation of the n
1) Y = 2x2 at the point (1,2)
1) Y = 3x2 - 2x at the point (2,8)
1) Y = 3x3 at the point (-1,-1/2)
iv) y = 1+x - x2 at the point (-2,-5)
1) as equation of tengent
differentiate : J = 2x1
      dy = 400
You reed the slope to find the equation
 - Supe of trangent at point (1,2) where x = 1
  Mtangent = 4(1) = 4
  equation of sungest; using y-y_1 = M(x-x_1)

y-2 = M(x-1)
     4-2=42-4
     42-4-4=0
         4x-y-2=0 equation of tangent
```

```
\frac{6x^2 - 0}{4} = \frac{6x^2}{4} = \frac{3x^2}{2}
where x = -1
= \frac{3x^2}{2} = \frac{3(-1)^2}{2} = \frac{3}{2}
of tangent; y - y_1 = m(x - x_1) where x = -\frac{1}{2}
of tangent; y - y_1 = m(x - x_1) where x = -\frac{1}{2}
= \frac{3}{2}(x - (-1)), \quad y + \frac{1}{2} = \frac{3}{2}(x + 2)
= \frac{3}{2}(x + 2), \quad 2(2y + 1) = 6(x + 2)
= 6x + 12, \quad 6x - 4y + 12 - 2 = 6x - 4y + 10 = 0
of tangent; 6x - 4y + 10 = 0
of tangent; 6x - 4y + 10 = 0
= -\frac{2}{3}(x - (-1)), \quad \frac{y}{1} + \frac{1}{2} = -\frac{2}{3}(x + 1)
= -\frac{2}{3}(x - (-1)), \quad \frac{y}{1} + \frac{1}{2} = -\frac{2}{3}(x + 1)
= -\frac{2}{3}(x - (-1)), \quad \frac{y}{1} + \frac{1}{2} = -\frac{2}{3}(x + 1)
= -\frac{2}{3}(x - (-1)), \quad \frac{y}{1} + \frac{1}{2} = -\frac{2}{3}(x + 1)
= -\frac{2}{3}(x - (-1)), \quad \frac{y}{1} + \frac{1}{2} = -\frac{2}{3}(x + 1)
= -\frac{2}{3}(x - (-1)), \quad \frac{y}{1} + \frac{1}{2} = -\frac{2}{3}(x + 2)
= -\frac{2}{3}(x - (-1)), \quad \frac{y}{1} + \frac{1}{2} = -\frac{2}{3}(x + 2)
= -\frac{2}{3}(x - (-1)), \quad \frac{y}{1} + \frac{1}{2} = -\frac{2}{3}(x + 2)
= -\frac{2}{3}(x - (-1)), \quad \frac{y}{1} + \frac{1}{2} = -\frac{2}{3}(x + 2)
= -\frac{2}{3}(x - (-1)), \quad \frac{y}{1} + \frac{1}{2} = -\frac{2}{3}(x + 2)
= -\frac{2}{3}(x - (-1)), \quad \frac{y}{1} + \frac{1}{2} = -\frac{2}{3}(x + 2)
= -\frac{2}{3}(x - (-1)), \quad \frac{y}{1} + \frac{1}{2} = -\frac{2}{3}(x + 2)
= -\frac{2}{3}(x - (-1)), \quad \frac{y}{1} + \frac{1}{2} = -\frac{2}{3}(x + 2)
= -\frac{2}{3}(x - (-1)), \quad \frac{y}{1} + \frac{1}{2} = -\frac{2}{3}(x + 2)
= -\frac{2}{3}(x - (-1)), \quad \frac{y}{1} + \frac{1}{2} = -\frac{2}{3}(x + 2)
= -\frac{2}{3}(x - (-1)), \quad \frac{y}{1} + \frac{1}{2} = -\frac{2}{3}(x + 2)
= -\frac{2}{3}(x - (-1)), \quad \frac{y}{1} + \frac{1}{2} = -\frac{2}{3}(x + 2)
= -\frac{2}{3}(x - (-1)), \quad \frac{y}{1} + \frac{1}{2} = -\frac{2}{3}(x + 2)
= -\frac{2}{3}(x - (-1)), \quad \frac{y}{1} + \frac{1}{2} = -\frac{2}{3}(x + 2)
= -\frac{2}{3}(x - (-1)), \quad \frac{y}{1} + \frac{1}{2} = -\frac{2}{3}(x + 2)
= -\frac{2}{3}(x - (-1)), \quad \frac{y}{1} + \frac{1}{2} = -\frac{2}{3}(x + 2)
= -\frac{2}{3}(x - (-1)), \quad \frac{y}{1} + \frac{1}{2} = -\frac{2}{3}(x + 2)
= -\frac{2}{3}(x - (-1)), \quad \frac{y}{1} + \frac{1}{2} = -\frac{2}{3}(x + 2)
= -\frac{2}{3}(x - (-1)), \quad \frac{y}{1} + \frac{1}{2} = -\frac{2}{3}(x + 2)
= -\frac{2}{3}(x - (-1)), \quad \frac{y}{1} + \frac{1}{2} = -\frac{2}{3}(x + 2)
= -\frac{2}{3}(x - (-1)), \quad \frac{y}{1} + \frac{1}{2}(x + 2)
= -\frac{2}{3}(x - (-1)),
```

```
of Mangart = 4
                                                                    ME
  where x_i = 1 is y_i = 2

y_i = 1 is y_i = 2

y_i = 1 is y_i = 2

y_i = 1 is y_i = 2
                                                                   Mass
     +(y-x) =-(x-1) + 4y-8 =-x+1
                                                                    7 -
    76 + 4y - 8 -1 =0
  Equation of Nimed = 2 +4y -9 =0
2) y = 3x2-2x at port (2, 8)
 deferentiate dy = 6x - 2 depend (z_1 \xi) where x = 2
Slope of Tangent = 6(3)-2 = 12-2 = 10
                -10
slope of Numal = -1 (negotive redeprocal of Margent)
a) enaction of tempert, y - y_1 = m(x - x_1) - x_1 = 1, y_1 = 1

y - 8 = 10(x - 2), y - 8 = 10x - 20

10x - y - 20 + 8 = 0 10x - y - 12 = 0
 The equation of bargent = 10x -y -12 =0
y - 8 = To (x-z)
cross multiply
10(y-8) =1 (x-2)
loy -80 = -x +2
oc + loy _80 -2 =0
x + loy - 82 =0; Equation of Numal
4 = x3/2 at powlt (-1, -1/2)
```

```
3y + 5 = 5x + 10
5x - y + 10 - 5 = 0
5x - y + 5 = 0
5x - y + 5 = 0
5x - (-5) = -1
5x + 25 + 25 = 0
5x + 25 + 25 = 0
5x + 25 + 25 = 0
7x +
```